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Fie- FIRICBET 260 0 0 1 0 0 0 1 (3.4%)
fENBDIRF HFIEIZET 550 0 0 0 0 1 0 1 (3.4%)
EHERES - REEICBI T 0b D 0 0 1 2 2 0 5 (17.2%)
BOADIERHNZBETHHD 0 2 0 3 3 2 10 (34.5%)
ERHEE B A0 0 0 2 2 1 1 2 8 (27.6%)
HLRITET b0 0 1 0 0 0 0 1 (3.4%)
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Fhoe- FIEICBE T 260 2 (9. 5%) 1 (3. 4%) Al (AG6.1%)
fEANBDIRFE HFIEIZET 550 1 (4. 8%) 1 (3. 4%) +0 (AL 3%)
EHERES - RRIEICBI T 2b D 3 (14.3%) 5 (17.2%) +2 (+3.0%)
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HLRICET LD 3 (14.3%) 1 (3. 4%) A2 (A10.8%)
Z DA, 6  (28.6%) 3 (10.3%) A3 (A18.2%)

& Fh 21 (100. 0%) 29  (100. 0%) +8




